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1) el 9w @ qEa g OR Y1 ATHHIG JaeY ford | 1) Write Roll No. on the first page of the Question Paper.
- ) 2) Marks for every question are indicated alongside.
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| @Ug — 31 /Section - A
IS ¥¥9,/Multiple Choice Questions -

91 PR 9 s wem sy 87 | (1)
(A) 025 ®) 017 © V3 (D): T ¥ ®g 7ol
Irrational number is - '
(A) 025 (B) 0.17 (C) 3 (D) - None of these -
w2 @ g @ s @ - | R S B (1)
" 4a) 0,0 (B) ((1,1) © &y - D (x0
Co-ordinate of origin is - ; - LA
(A) (0,0) (B) (L 1) ©)  xy (D)  (x,0)
g3 UF G @ W a4 S $1 AfrFmas T gk g - Kk o (1)
(A 180° (B) 360° Cc) 0 (D) 90°
The maximum addition of angle on a straight line is - . I ;
| (A) 180° (B) 360° ©. . D 9% |
T T PG dAism @i AR e - _ (1)
(A)  60° (B) 90° - (C) :180° D)  360°
The sum of interior angle of triangle is - Chl o w
(A) 60° B) 90° (€ '180° (D) 360°
so g@ agde ¥ fad qod Bl #7 R 2T S (1)
@ 1 (B) ' 4 (©) 3 M), & il
How many sides of quadrilateral are there? ;
(A) 1 B) 4 © 3 = O 2
16 ERFFTHIE - ) (1)
(A) Js(s—a)(s—Db) ~(B) s(s—a)(s—c)
(C) Js(s—a)(s=Db)(s—c) (D) . Js(s=b)(s—¢)
Heron’s formula is - e P |
(A)  fs(s—a)(s=Db) (B) 4s(s—a)(s—¢)
€y JsGs—a)s—b)(s—c) (D) Ys(s=b)(s-c)
7 U gafgag § et wae gond B 87 ; i (1
(A) 2 -t (B) 3W © 1 (D) W )
How many equal sides are there in isosceles triangle? . T ‘
(A) 2 B) 3 -' o | (D) Nonc of side
103-9] - | Page 1 of 7
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(1)

U8  Y® B aw gs &1 OFwd § ~
(A) 2urh (B) 1l ©)  ne’h (D)  mr(r+h) E
The curved surface aren of a ¢one |5 - - “
(A) 2nrh (B) i © (D) mr(reh)
79 5 @ e A fams a1 vl o f ~ | (1)
@ || B | © MW (D) A B T
The correct way of showing tally mark of § §s — '
A |1 ®) M © (D)  None of these
¥10  TT e ¥ g B w3 g e mifte - | (1)
(A) ™ (B) ®WR (€) (D)
The distance between the bars in a bar graph is -
(A)  Zero - (B)  Equal (C)  Unequal (D)
{ug —~ §/Section-B
Rew w1 #fRq/Fill in the blanks -
1
T (32)5 BT HT oo, YT )
2
The value of (32)5 18 ..ovovivivnisiioocsairosss -
W12 B dd ¥ Y 387 BT GHGT h%I (1)
The equation of Y axis in Cartesian plane T L [
713 ¥ ¥aEw O U oW @ onad 2 & Wd’lﬁwzﬁw e BT B (1)
The lines which are perpendicular to each other makes ..........c.coevvvevmniennnns
W14  FAFOR AGHA D T BT crcrrsnannnnis asisspins Bl 2 ; (1)
The opposite angle of parallelogramis .........ocoevimviiiinieniiine
w15  qahray et ¥ 6 A . B & (1)
Corresponding part of congruent mangle 1s . —_— )
g16 @ adl B W A 'ﬂ'a'u%j- |
The relation between diameter and radius iS .........oovereeiinninnnneniss
9.17 Wﬁgﬁﬁﬂ@%?ﬁﬁfmm4#ﬂﬁa&a§m....: ....... T "@I .ﬁizg‘mﬂ (1)
' 2
A triangle having base 7cm and henghl: 4cm, then area Will be .......iveviiinimiininne, cm®.
yig gl @ SAgA W D ... wﬁvﬁmﬁar (1)
The height of the bar depcnds qn thf.: .......... eadene s of the vanablel.
@ug — |/ Section - C
Hfey TgORIH® 9¥T / Very short answer fype questions -
Q1o k@1 A I ARG, TaH x =3,y =2 WG 2x+y =k P & B @)
Find the value of k, if x = 3, y =2 is a solution of 2x +y = =k. o)
2
§20  —2x (2x + 2y) BT AT FI BT |
Find the value of —2x (2x + 2y).
.21 mWﬁaﬁ_mewmélxwmwﬂl (2)
In the given figure, POQisa line. Find the value of x. |
4x
40° 3X
P 0 Q
1903-91 Page 2 of 7

(3 scanned with OKEN Scanner



22

.24

9.25

4.26

M27

.28

9.29

:_-Wﬂﬂ'ﬁm$m4'5'ln'llfiﬁl‘ﬂ'[’b‘ﬁmmmmmﬂ“ﬂf | ()

" The ratio of the quudnlmeml arcd :5:10: 11, Find the value of cuuh anglc of Ihc qudrilaterals,
- fRu o fE A, LABC =69° en £ACB = 31° &, T ZBDC ¥R #ifig ) @

'ﬁmﬁ%mgmwwwﬁmﬁl | (2)

ABC 3ftv DRC YT 3R BC e =Y wmifrarg Aot 81 A8 W ZARD w 2Achy | (@)
ABC and DBC are two isosceles trinngln an same base BC. Prove that LABD m £LACD

In this figure, LABC = _69" and ZACD = 31°, then find the nngle ZBDC.

wﬁgﬁrma{a‘nﬁmlsﬁl %lwﬂwgmﬁlzﬁlﬁlﬁuﬁﬁmﬁmﬂl (2)

The semi perimeter of tnanﬂular plot is 15m with two equal su:lua of 12m. Find the arca of the triangle.

ww@ﬁgmmmmaﬁﬁmﬁmﬁ%uﬁaﬂwaﬁmﬁﬁﬁﬁal @)

Find the area of an equilateral tnangle; whose length of each sidé is 6em.

ﬁwmﬁﬁwsﬁmmmmizﬁﬁﬁﬁmmwmi )

If the radius of the -::ylmder is Scm aud its height is 12cm, then ﬁnd its volume.

'wmwﬁmba’»‘wﬁmﬁﬁa%mw'mqg-._

6.86,9,76,56,9%92

The marks of 10 students of Class 9“‘ in the ﬁrst test are as fnlluws -

'6,8,6,9,7,6,5.6,9,2
Make a frequency table by using tally marks.

'-wﬂnﬁmaﬁam ﬁmmﬂ’f&‘aaﬁ?ﬁﬁm— g i ()
) - Py Rrenffa @ o 97 ] o
Giy fra faenfdfi @ ofs 89 79 w7

By nbsenrm g, above quesuun table, give answers of the fnllnwmg I]Ut‘.itiﬂns a
(i) . How m;m}f students got 9 marks? ‘ R r..',-'u :
(1) How mﬂny sludcq;s got less than 8 marks? B

1 [903-9] - Prge 3 of 7.
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.30

H.31

N.32

U.33

H.34

9.35

U.36

H.37

1.38

CTHXINIS® WY /Short answer type questions -
0.2353535 = 0.235. T -E B T N @ W) )

Show that 0,2353535 = 0.235, CxXpress it in the form of -*.

R e — ' o 6
Write any three identitics.
X +y=5% A9 v g ' ®)
Write any three solutions of 2x + y = §, -
B s e gt A Rt 8 9
Write the quadrant of these points - |
@ (=2,-3 i) G0 (i) (=1,2)
ﬁﬂémﬁ,uﬁar::m%,ﬂmaﬁmﬁnnu:cmﬂ*i o
In this figure. if AC = BD, then prove that AB = €D,

A B C D

Ug — & /Section - D -

R o s 0 @ qerme & 3 B A B & P @
Prove that the angles of a ﬁiclgment in 2 circle a:e equal, '

=t Brgsr 1 ot 60401, 1007, Tom 140, ¥ | 5 Prqel BT dwe T B . @)

The sides of a t;'ia.ugle s GOm 100m and I.tHfm re':pecriw:ly Find the are:;.l of the triangle.
WW—éqma%faummm wmﬁfawmwm 81 9 add T T B T

el eng 1 amagddd &2 | i | | ()
A conical vessel is to be made whose radlus is 4cm and Islantl height is 7cm, then how much metal will be

required for making the vessel?
ww#tﬁﬁwﬁus—maﬁ-ﬁmmﬁmﬁﬂm\ﬁWaﬁ?a-g%wwﬁaﬂnmm%

& Rrq fre g T @ P oS R v R @)

Ex A FRO At 9og & (% )
T R eI - 318
AT AAIAERI Srawe 25.4
afy | | 12.4
e aifiT ST 43
TqAA TR 4.1
] PO | | 22.0

o @ T S B s e 4§ Pl FIRIC

a b W oW

1!"
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A survey conducted by an organisation for the cause of illness and death among the women hetween the

age (15-44) in years, found the following figure (m %) -

Sr. No. Cnu-ms - Female fatality
rate (in %)

| Reproductive health condition 31.8

2 Neuropsychiatric condition . 254

3 Injurics 12.4

B Cardiovascular condition 4.3

5 Respiratory condition 41

6 Other causes 22.0

Represent the information given above graphically.
439 UF T &1 A T Pierg Rrea Broar 0,63, 21

Find the volume of a sphere whosc radius is 0.63m.

SHITRS U9/ Long answer t)rpe questions -

740 TS JEMATHR Ferr 0.25 A, A& W A a1 8| 79

mmﬁwmq@uﬁaﬁraﬁm‘fl

A hemispherical bowl is made of steel 0.25cm thick. The inner radius of the bowl 1s Scm. Fmd the outer

curved surface arca of the bowl.

Of#0
T 2
E.

©)

FoR B aiaRe Broar AL &) BER

hitps:.//www. ra]aslhanbuard com

.41 ﬁqmﬁrﬁrﬁwﬁmﬂzﬁrmﬂgaﬁﬁﬁmﬁﬁmaﬁﬁaﬁmﬁma@au%?

Based on the given measures, find out which vessel contain more capacﬂy of liquid?

Y42 UF TR H, Wﬁwmamam#%mﬁﬁﬁﬁﬁw@?ﬁmﬁﬁQWI

" Frafe @d qEeie | @l s 6l

140 - 150 5

- 160 10

160 - 170 20
170 — 180

180 — 190 6
190 — 200

T 52

SR U 0 AiFel B U@ TRERAT 9gH Wity |

@)

(4)

@)
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In a city. the weekly observations made in a tudy on the cost of living index are given in the following

lable.

Cost of living index | Number of weeks
140 - 150 5 E‘;;E]
150 - 160 10 ¥ ﬁ '
160 - 170 20 E'
170 = 180 9
180~ 190 6
190 - 200 2
Total "! 52
Draw a frequency polygon for the above data. : \
H43 A @ RN F 0B BE) N I w @ wfaRar @ daw o e 8y (4)
& FHaIRAY Bt
LiLC )
10000 - 15000 10
15000 — 20000 16
20000 — 25000 14
25000 - 30000 5
30000 - 35000 3

ﬁqwahﬁp*faﬁﬁ?ﬁﬁaa%ﬁmwmmﬂ Rz ifag |

The following table shows the observation of the salaries of cmplﬁyin:s working in a factory.

Salary Number of
| Emplﬂ;fn‘js
10000 - 15000 | 10
15000 ~ 20000 16
20000 — 25000 14
25000 — 30000 8.
. 30000 — 35000 k 3

Draw a histogram representing the given data.

f9aTei® W¥/ Essay type questions -
544 O wET BT (AT (@ SFNA B IR I R4 A W, THA GHA HXA A 498.963 7T ®Y | Al

WHET BRE B oY 2.0 T 9 a7t Arex &, At s Afog — ")

()" TaT @ AR IF YT S=pe ' |

(i) 7% @ SR B §G1 BT AT

A dn;me of building is in the form of a hemisphere. From inside, it was ﬁrhitc-wuahed at the cost of

T 498.96. If the cost of white washing is T 2.0 per square metre, find -

(1)  Inside surface area of the dome

(i1) Vuium% of the air inside the dome

-_ JAYTT / OR
S A T ATaaA o Iy s ybia eawa 616 a7t |, &

Find the volume of sphere whose surface arca is 616 em?.

[u]

[=] % =]
s
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045

. . * fenfidl @ waie Frefa
W*ﬁﬁﬁsﬂwwmwmmmwﬁwm,

The following table gives the distribuiion of two scctions of students according to the marks obtained by

them.
____ Scction A _Sectlon B

Marks | Frequency Marks | Frequency
0-10 3 0-10 5
10-20 Y 10-20 19

20 =30 7, 20-30 5

30 - 40 12 30 -40 20

40 - 50 9 40 - 50 1

Represent the marks obtained by the students of both the sections on a single graph with the help of two
frequency polygons. Study both the polygons and compare the results of both the sections.

| arerar /OR
U fde #a § & OF A ik B gRT wum 60 e A g v % A Ry Mo ¥

ECE K 29 A W B

‘ 1-6 2 5

712 1 6

13-18 8 2

1924 9 10

3 425 — 30 4 5
! 31 =36 5 6
| 37 - 42 6 3
4 43 - 48 10 4
- 49 - 54 6 8
55-60 | 2 10

| R TR # W W @ e T A A @ sied PR @R

The runs scored by two teams A and B on the first 60 balls in a cricket match are given below.

.  Number of balls | Team A | Team B
; - -6 2 5
7-12 1 6
i 13-18 8 2
g 19 - 24 9 10
‘- ‘ 25 - 30 4 5
31 -36 5 6
e 37-42 6 3
';- 43 - 48 10 4
| ' 49 - 54 6 8
55 — 60 2 10

Represent the data of both the teams on the same graph by frequency.

- e e R e .

l 2
"

[90?%&-9]
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